Sympthomtraining Dyskalkulie

Teile die Muggelsteine durch 2
und schreibe das Ergebnis auf die Linie.

_ 000 00000 00000
26:2=__ o000 o0000e 00000

06 o000
U:2=__ se g:ooo

_ () o
A:2=__ c: 0::::
Y X
2:2=__ ¢  Gosos
00O
00OO®
8.2 = 2000 00000

© Katja Mense-Seerich



Sympthomtraining Dyskalkulie

Teile die Muggelsteine durch 2
und schreibe das Ergebnis auf die Linie.

0oee 0
000®

28:2=__ 0000® 0OOO®

66:2 =

o4 :2

82:2=

000
O0PO®

00O
000G

00e® O
00O ®

© Katja Mense-Seerich

00O
0000 ®



